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he figures in the margin indicate full marks for
the questions.

Answer the following questions as directed.
1x10=10

(@) Customer defection is also known
- a8 ——8M8.
(Fill in from the following)

o Disldyal Customer
e Churn
e Lapsed Customer

e [EXx-customer

(b) What is the full form of ‘FUD’ ?




; | ‘of Fun retailing,
(¢) IDIC framework i, CRM is associateq with : it I
&l in frop the fol[owz'ng) _ % 'estlons ’ | ¥
* One to one Marketing » ’ a of customer life-
° Customization |
; Personaﬁzaﬁon ; ' | - Objectives of CRM
® None of the above , |

2% 5= ()

(d) Wha_t is the maximum period to Implement i : responsible for the
a CRM project to avoid the risk of failure ? L lture in India.

(&) What is the full form of ‘MKIS® 2 | B Ao Store 2

() The purpose of CRM process is to originate 14 e,
: , o rketing.
* @ powerfu] too] for customer. - A9

(Choose the correct option) .
: of the following :
A 5x4=20

Value

* Retention

* Exploration
® Acquisition :
* All the above ' | schnology in CRM

1

A(g) What i brick and mortar retailing ? | : : cing

(%) Name the theory Propounded by 8.¢ _
" Hollander. A

(1) Which stores are known ag “mom-and-pop” e
" stores 9 ‘
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4. State five inputs for acquisition and requisites for
making acquisition effective. 545=10

Or

- Outline CRM process of a marketing organization
specifying the key responsibilities of the functional
heads. | 10

J. « Elaborate in detail the principles of Retailing.
. ; 10
Or

Explain in detail the various components of PEST
Analysis. 10

6. Mention the reasons for the growth of Direct-
Marketing in India. How it is different from

Conventional Marketing ? 5+5=10
: Or

What are the essential features of a popular
E-Marketing Website ? 10

7. What are the three basic hurdles in maintaining
- an ideal tenant-mix ? How to overcome such
hurdles ? 5+5=10

! Or :
What are the objectives of Market Logistics ?
Why importance on market logistics is increasing
day by day in India ? . 3+5=1
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